Discussion 8B
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PRINT your name and student ID:

5. Matching: DFT and Sampling (12 pts)

Circle your answer. There is no need to give any justification.

(a) Given the time domain signal below with 12 samples taken over 3 seconds:

. Time domain signal 5 Magnitude of X[p]
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Time domain signal. DFT magnitudes.
Now, we have sampled the same signal at a different sampling rate to get 30 samples over 3 seconds:

N Time domain signal
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“ which plot below represents all the corresponding DFT coefficients?
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PRINT your name and student ID:

(b) Given the time domain signal below with 30 samples taken over 3 seconds,

Time domain signal Magnitude of X[p]

L ®

0 1 2 3 (eeescessssces ol scossccessce
Time -15 -10 -5 04 5 10 15
—
Time domain signal. DFT magnitudes.

Now, we have obtained the DFT coefficients for another sampled signal, with sampling frequency of
6Hz:
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PRINT your name and student ID:

(c) Given the DFT coefficients of the sampled signal, obtained by taking 30 samples with a sampling

frequency of 5SHz:

B (’\‘2— Magnitude of X[p]
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Which one is possibly the corresponding continuous time signal that was sampled?
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